X = 0.0111 0011 1001 (1849/4096)

S = 0.1010 1100 0000 (2752/4096)



X 0000.0111 0011 1001 Sp = 0001.0000 0000 0000

WSy=2(X—-1) 1110.1110 0111 0010 S My = 0000.0000 0000 0000
WCy 0000.0000 0000 0000 Ky = 0001.0000 0000 0000
Cp = 1111.0000 0000 0000
Step 1: WSy 1110.1110 0111 0010
WCy 0000.0000 0000 0000 (Winsbs = 1110 so s1 = —1)
Fy =25, — K; 0001.1000 0000 0000 S1 = 0000.1000 0000 0000
SM; = 0000.0000 0000 0000
sum 1111.0110 0111 0010 <1 K; =0000.1000 0000 0000
carry 0001.0000 0000 0000 <1 C1 = 1111.1000 0000 0000
Step 2: WS 1110.1100 1110 0100
W 0010.0000 0000 0000 (Winsbs = 0000 so sa = 1)
Fy,=-25 — Ky 1110.1100 0000 0000 Sy = 0000.1100 0000 0000
S My = 0000.1000 0000 0000
sum 0010.0000 1110 0100 <1 Ko = 0000.0100 0000 0000
carry 1101.1000 0000 0000 <1 C> = 1111.1100 0000 0000
Step 3: WS 0100.0001 1100 1000
WCq 1011.0000 0000 0000 (Winsps = 1111 so s3 = 0)
F3=0 0000.0000 0000 0000 S3 = 0000.1100 0000 0000
S M3 = 0000.1010 0000 0000
sum 1111.0001 1100 1000 <1 K3 = 0000.0010 0000 0000
carry 0000.0000 0000 0000 <1 (3 =1111.1110 0000 0000
Step 4: W Ss 1110.0011 1001 0000
WCs 0000.0000 0000 0000 (Winsbs = 1110 so s4 = —1)
Fy =253 - K, 0001.0111 0000 0000 S4 = 0000.1011 0000 0000
SMy = 0000.1010 0000 0000
sum 1111.0100 1001 0000 <1 K4 = 0000.0001 0000 0000
carry 0000.0110 0000 0000 <1 Cy = 1111.1111 0000 0000
Step 5: WSy 1110.1001 0010 0000
WCy 0000.1100 0000 0000 (Winsbs = 1110 so s5 = —1)
Fs =25, — Ks 0001.0101 1000 0000 S5 = 0000.1010 1000 0000
SMs = 0000.1010 0000 0000
sum 1111.0000 1010 0000 <1 K5 = 0000.0000 1000 0000
carry 0001.1010 0000 0000 <1 Cs = 1111.1111 1000 0000
Step 6: WSs 1110.0001 0100 0000
WCs 0011.0100 0000 0000 (Winsbs = 0001 so sg = 1)
Fg=—-255 — K¢ 1110.1010 1100 0000 Se = 0000.1010 1100 0000
SMe = 0000.1010 1000 0000
sum 0011.1111 1000 0000 <1 Kg = 0000.0000 0100 0000
carry 1100.0000 1000 0000 <1 Cs = 1111.1111 1100 0000

sum + carry = 0, terminate

Terminate Square Root 0.101011



0111.1111 0000 00
1000.0001 0000 00
0000.0000 0000 00

1111.1110 0000 00
0000.0010 0000 00

1111.1100 0000 00
0000.0100 0000 00
0000.0000 0000 00

1111.1000 0000 00
0000.1000 0000 00

1111.0000 0000 00
0001.0000 0000 00
1110.1010 0111 10

0000.1010 0111 10
1110.0000 0000 00

0001.0100 1111 00
1100.0000 0000 00
0001.0101 1000 11

1100.0001 0111 11
0010.1001 0000 00

1000.0010 1111 10
0101.0010 0000 00
0001.0101 1000 01

1100.0001 0111 11
0010.0101 0000 00

1000.0010 1111 10
0100.1010 0000 00
0001.0101 1000 00

1101.1101 0111 10
0000.0101 0000 00

1101.1000 0111 10
0000.1010 0000 00
0001.0101 1000 00

ws
wcC

1100.0111 1111 10
0011.0000 0000 00

(Winsbs = 1111 so sg = 0)
S = 1.0101 1000 00
SMg=1.0101 0100 00
<1

(Winsps = 1111 so s7 = 0)
S7 =1.0101 1000 00
SM; =1.0101 0110 00
<1

(Winsbs = 0000 so sg = 1)
Sg = 1.0101 1001 00
SMg =1.0101 1000 00
<1

(Winsbs = 1101 so sg = —1)
S9 = 1.0101 1000 10
SMyg =1.0101 1000 00
<1

(Wmsbs = 1101 so S10 = —1)
S10 = 1.0101 1000 01
SMip =1.0101 1000 00
<1

(Wmsbs = 1101 so S11 — —1)
S11 =1.0101 1000 00
SMi; =1.0101 1000 00
<1

(Wmsbs = 1101 so S12 = —1)
S12 =1.0101 1000 00
SMi2 =1.0101 1000 00
<1
<1



Step 13:

ws
wcC

1000.1111 1111 00
0110.0000 0000 00
0001.0101 1000 00

WS
wcC

1111.1010 0111 10
0000.1011 0000 00

(Winsbs = 1110 so s13 = —1)
S13 = 1.0101 1000 00
SMi3 =1.0101 1000 00
<1
<1






Terminate

0000.1100 0000
1111.1100 0000
0000.0000 0000

1111.1100 0000
0000.0000 0000
0000.0000 0000

1111.1100 0000
0000.0000 0000

1111.1000 0000
0000.0000 0000
0000.0000 0000

1111.1000 0000
0000.0000 0000

1111.0000 0000
0000.0000 0000
0000.0000 0000

1111.0000 0000
0000.0000 0000

1110.0000 0000
0000.0000 0000
0000.1111 1000

1110.1111 1000
0000.0000 0000

1101.1111 0000
0000.0000 0000
0000.1110 1100

1101.0001 1100
0001.1100 0000

<1
<1

Sp = 0001.0000 0000 00
S Mo = 0000.0000 0000 00
Ky = 0000.0100 0000 00
Cp = 1111.1100 0000 00

(Winsps = 1111 so s1 = 0)
S1 = 0001.0000 0000 00
S M7 = 0000.1000 0000 00
K47 = 0000.0010 0000 00
C7 =1111.1110 0000 00

(Winsps = 1111 so s9 = 0)
Ss = 0001.0000 0000 00
SM, = 0000.1100 0000 00
K5 = 0000.0001 0000 00
Cy =1111.1111 0000 00

(Wmsbs = 1111 so §3 = 0)
S3 = 0001.0000 0000 00
SM3z = 0000.1110 0000 00
K3 = 0000.0000 1000 00
C3 =1111.1111 1000 00

(Winsbs = 1110 so s4 = —1)
S4 = 0000.1111 0000 00

S M, = 0000.1110 0000 00
K4 = 0000.0000 0100 00
Cy=1111.1111 1100 00

(Winsbs = 1101 so s5 = —1)
S5 = 0000.1110 1000 00

SMs = 0001.1110 0000 00
K5 = 0000.0000 0010 00
Cs =1111.1111 1110 00



X = 0.1010101101(685/1024)
S = 0.1101000110(838/1024)

once R4 sslc gets here i can fill this in



X = 1.1001 (25/16)

S = 1.0100 (20/16)

Attempt 1: X is normalized to 1/2 < X <2 Wonsbs l0o0ks at Q4.0
X 0001.1001
WsS=X-1 0000.1001 sg=1
wcC 0000.0000 So = 1.0000, SMy= 0.0000
Step 1: WS 0000.1001
wcC 0000.0000 (Winsbs = 0000 so s1 = 1)
F 1110.1100 S1 =1.1000, SAM; = 1.0000
WS 1110.0101 <1
wcC 0001.0000 <1
Step 2: WS 1100.1010
we 0010.0000 (Winsps = 1110 50 83 = —1)
F 0001.0110 Sy =1.0100, SM> = 1.0000
WS 1111.1110 <1
wcC 0000.0010 <1
Step 3: WS 1111.1100
wC 0000.0100 (Winsps = 1111 50 83 = 0)
—q3D 0000.0000 S5 =1.0100, SM;z = 1.0010
WS 1111.1000 <1
wcC 0000.1000 <1
Step 4: WS 1111.0000
wcC 0001.0000 (Winsbs = 0000 so s4 = 1)
F 0000.0000 Sy =1.0101, SM4=1.0100

Terminate



Attempt 2: X is normalized to 1/2 < X <2 Winshs looks at Q3.1

X 001.1001
WS=X-1 000.1001 so=1
wcC 000.0000 So = 1.0000, SMy = 0.0000
Step 1: WS 000.1001
wcC 000.0000 (Winsbs = 000.1 so s1 = 1)
F 110.1000 S7 =1.1000, SM;=1.0000
WS 110.0001 <1
wcC 001.0000 <1
Step 2: WS 100.0010
we 010.0000 (Winshs = 110.0 50 83 = —1)
F 001.0100 Sy =1.0100, SM, = 1.0000
wSs 111.0110 <1
wcC 000.0000 <1
Step 3: wSs 110.1100
wC 000.0000 (Winsps = 110.1 50 83 = —1)
—qsD 001.0010 S3 =1.0010, SM;3;=1.0000
wSs 111.1110 <1
wcC 000.0000 <1
Step 4: wSs 111.1110
W 000.0000 (Winshs = 111.1 50 54 = 0)
F 000.0000 Sy =1.0010, SM,;=1.0001

Terminate



Attempt 3: X is normalized tol< X <4 Winsbs looks at Q4.0

X 0001.1001
WS =X-2 1111.1001 s_1 =10
wc 0000.0000  S_; = 10.0000, SM_; = 00.0000
Step 0 WS 1111.1001
wC 0000.0000 (Winsps = 1111 s0 sg = 0)
F 0000.0000  So = 10.0000, SMy = 01.0000
WS 1111.1001 <1
wC 0000.0000 <1
Step 1: WS 1111.0010
wC 0000.0000 (Winsps = 1111 s0 s = 0)
F 0000.0000 Sy =10.0000, SM; = 01.1000
S 1111.0010 <1
wC 0000.0000 <1
Step 2: WS 1110.0100
wC 0000.0000 (Winsbs = 1110 50 53 = —1)
—gsD 0001.1100 S, = 01.0100, SM> = 01.0000
WS 1111.1000 <1
wC 0000.1000 <1

Terminate



X = 0.011001 (25/64)

S = 0.101000 (40,/64)

Attempt 4:

Terminate

X is normalized tol/4< X <1

X 000.0110 01
WS=X-1 111.0110 01
wce 000.0000 00
WS 111.0110 01
wce 000.0000 00
F 000.1000 00
WS 111.1110 01
we 000.0000 00
WS 111.1100 10
wcC 000.0000 00
F 000.0000 00
WS 111.1100 10
wce 000.0000 00
WS 111.1001 00
wce 000.0000 00
—g3D 111.0010 00
WS 1111.1110
we 0000.0000
WS 1111.1110
wC 0000.0000
F 0000.0000

Winsbs looks at Q3.1

so=1
So = 1.000000, SMy= 0.000000

(Winsps = 111.0 so s1 = —1)
S1 = 0.100000, SAM; = 0.000000
<1

(Winsbs = 111.1 so sg = 0)
S = 0.100000, SMs = 0.010000
<1

(Winsbs = 010.0 so s3 = 1)
S3 =0.111000, SM;3 = 0.110000
<1

(Winsbs = 111.1 so s4 = 0)
Sy =1.001000, SM,=1.000100



